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Chol: 4K XHR B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 179,062 264,470 A 85,408
O2Uus3dxE 11,662,600 *10ha 116,626
= 60,250
< 18,075
[ia 38,301
O2UR (A THaHEXI) 6,243,600& x10ha 62,436
= 4,020
= 18,067
e 40,349
02 Zeltl 5,241 7,801 A 2,560
O2u2xg Zealtl 262,010& »20ha 5,241
03 Al S THHI 442 985 A543
O2URxg 20Ul 22,100& *20ha 442
N EsxE 312,255 104,085 208,170
= 156,128
< 46,838
s 109,289
401 A& HIZ 201 I 312,255 104,085 208,170
= 156,128
< 46,838
s 109,289
01 A& HI 302,214 100,738 201,476
OXNYEstxd 20,147,600& x15ha 302,214
= 156,128
< 46,838
[ia 99,248
02 2teldl 8,916 3,347 5,569
OXNEEstzg Zeldl 594,400& = 15ha 8,916
03 A& 2 THHI 1,125 0 1,125
OXNESsatx=g 20l 75,000& x15ha 1,125
Lhst=8 x4 31,806 0 31,806
= 9,306
< 6,750
i 15,750
401 Al BIZ 201 8] 31,806 0 31,806
= 9,306
< 6,750
i 15,750
01 A& HI 29,811 0 29,811
OUst=gti=4d 9,937,000& *3ha 29,811
= 9,306
< 6,750
s 13,755
02 Zteltl 1,676 0 1,676
OUst==&H=4d Zeltl 558,600& *3ha 1,676
03 Al =TI 319 0 319
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OUst==&H=4d 20l 106,020& *3ha 319
OIMSXINZEEE 110,000 509,905 A 399,905
= 55,000
< 16,500
[ 38,500
401 Al HIZ 2018 110,000 509,905 A 399,905
= 55,000
< 16,500
e 38,500
01 A& HI 106,623 493,511 A 386,888
OOIMEXZLR 21,324 ,600& x5ha 106,623
= 55,000
< 16,500
[ia 35,123
02 Zteltl 2,696 14,557 A 11,861
OO0IMEX2LS Zeltl 539, 148& *5ha 2,696
03 A& =2 I 681 1,837 A 1,156
O0AMZXZ2LS Rt 136,074 & *5ha 681
SHS2 2 920 0 920
= 460
< 138
s 322
202 o4l 920 0 920
= 460
< 138
[ia 322
01 =LHOIHI 920 0 920
O=SMHHESs22elet=s 20,0003 »2H »232! 920
2 460
< 138
e 322
LEALE 282,000 0 282,000
= 141,000
< 42,300
e 98,700
402 RI2EX=20l A 282,000 0 282,000
= 141,000
= 42,300
s 98,700
02 U2 THEALEZ(0IETHR) 282,000 0 282,000
OLIEUAILXIE 470,000,000 » 14! x60% 282,000
= 141,000
< 42,300
s 98,700
MHIFAEEY 10,399 14,320 A 3,921
= 5,199
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= 1,560
= 3,640
401 AlEHIZL £ 0HY| 10,399 14,320 N 3,921
= 5,199
&< 1,560
= 3,640
01 Al&H| 10,399 14,320 N 3,921
OAteH HAAH & =M 20,798 x500ha 10,399
= 5,199
& 1,560
= 3,640
OMIHX M3 =R D] 1,003,440 1,086,802 N 83,362
= 501,720
o=} 150,516
= 351,204
402 SI2F X0l ™ 1,003,440 0 1,003,440
= 501,720
& 150,516
= 351,204
03 QI2t[EFAFE HI 1,003,440 0 1,003,440
ODIMIE R HZ 2A=I1RI| AEABAS
2,712,000 x370ha 1,003,440
= 501,720
o= 150,516
= 351,204
MM =D D] 1,838,084 1,352,986 485,098
= 919,042
& 275,712
= 643,330
402 12t X0l ™ 1,838,084 0 1,838,084
= 919,042
& 275,712
o 643,330
03 QI2tP/EFAFSE HI 1,838,084 0 1,838,084
OHBILIRIIR IR EAEHAIS
1,531, 733& *300ha 459,520
= 229,760
o=} 68,927
= 160,833
OXSEXINRINIAEAEAIS
1,531, 737& *900ha 1,378,564
= 689,282
o 206,785
= 482,497
=JtRI| (At E L RE2l) 376,087 530,450 A\ 154,363
= 92,217
=} 26,945
= 256,925
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OAZIHIOI QI AT S 319,894
— AZIHIOIQIfA =T SH(QIH])
2,058,450 x6 2 102 123,507
=2 61,754
[= 18,526
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— =PI EAEH(QI 2 HI)
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[ 6,796
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=2 900
201 L2 5,229 5,783 A554
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O2Z2AEINRIIRBU(Z2HIZ=INHE)
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206 X 2 Hl 3,564 3,921 A 357
01 M2l 3,564 3,921 A 357
O2Z2 AR ZAHH| (ZHIF=IHE)
40,5009 *22H 45 3,564
2B ddE2 28,000 28,000 0
= 12,000
[= 4,800
2 11,200
402 QIR 0| & 28,000 28,000 0
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SN BA(SA) - MRAY - BES 0l &t o e 2
= 12,000
< 4,800
= 11,200
DIZEXEAIE B E (O & THE ) 28,000 28,000 0
oga=2LdHXA 4,000, 000& *10CH*70% 28,000
2 12,000
< 4,800
[ia 11,200
LAEEXNEZ K& 10,470 18,460 27,990
< 2,090
i 8,380
201 et 10,470 18,460 A7,990
< 2,090
s 8,380
01 At 2teltl 10,470 18,460 AT7,990
OYggelZENES XA 1,396& «150H x50+ 10,470
< 2,090
e 8,380
TE=XH 135,307 61,350 73,957
201 £B-2dH| 19,807 21,810 A 2,003
01 At 22l 18,950 21,810 A 2,860
OptgH| 12,760
—MEANMESERASHE
2,0003*x2002*x2& 800
—ZHEEHEY 200,000& *401 x4 3 3,200
—ZAHEMIEHULEZH 250,000 44 43 4,000
—EZHEXL3 200, 0003 348 +23] 1,200
—ZE2HENX 150,000& 62 900
—ASUMALE =Y 66,000 x5 x2F 660
—MEEFSHEANSS 7L 200,000& %105 2,000
O= &l 1,440
—ASUMAMETHIZ A 8,000& x180H 1,440
ogdxz 4,000
—METHEHEFIAXZ 333,300 128 4,000
ogzzelsglIHesdd 50,000& x5& *33] 750
23224 857 0 857
O 2L EINH AL 2RI
1,360 x74 »20H 45 857
202 o4dl 7,000 7,840 A 840
01 = LH o4 1l 7,000 7,840 A B840
OusdZIL2FANHI
35,0003 *4F 52 «103] 7,000
203 YR =& 2,700 2,700 0
03 A F=XH S Z=ZH| 2,700 2,700 0
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Odtae e =xxd 2,700,000& 2,700
206 M = dl 24,000 18,000 6,000
01 X2 bl 24,000 18,000 6,000
OURUSHFIISHAMELRFY
4,000 4,500 18,000
OS0=EHEANEHE Y 100,000& »60= 6,000
301 et M= 1,800 5,000 N 3,200
09 HAIAHI X & 2 1,800 5,000 N 3,200
OMte 23t =Ml Z o1& dl 40,000 x45H 1,800
307 2iztol A 80,000 0 80,000
05 QIZ2tRE 2 80,000 0 80,000
OLTIMAETAIZ 22| T AN HI
400,000 *50km*43| 80,000
AU AlA 298,822 138,682 160, 140
308 XAXIEHSOIA 298,822 138,682 160, 140
07 XSRS 298,822 138,682 160, 140
OYTAY RE3-YEl4a
222,514, 166& *5km*24% 267,017
O ANY BEY2-2FXIMHE
66,260,000 x2km*24% 31,805
METRES 5,428,736 4,740,331 688,405
= 791,382
= 697,577
= 3,939,777
A2 THOH L Ktel (A EBHE) (Z A 89,544 88,628 916
= 44 772
= 13,432
= 31,340
101 e1214| 78,010 77,100 910
= 44 772
o= 13,432
= 19,806
04 JI2ZtHIZ22NEES 78,010 77,100 910
Ostgldalisg o gd4i2egsx2s)
68,6703 x4 %284 78,010
2 44,772
= 13,432
= 19,806
201 gBt2Ay| 11,534 11,528 6
01 A2t 2| H| 8,400 8,400 0
OMNSHH SOl &2 2 M X Xt
840,000 x1CH*10& 8,400
02 324 H| 3,134 3,128 6
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= 1,540
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s 1,078
206 M= Hl 3,080 3,080 0
= 1,540
< 462
s 1,078
01 M= 4l 3,080 3,080 0
Otz Holl S M A H 7 30,800& 1008 3,080
= 1,540
< 462
[ia 1,078
ZEESERH0SHEEZLAL2Y 168,080 165,890 2,190
= 84,040
< 25,212
e 58,828
101 @144 dl 168,080 165,890 2,190
= 84,040
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s 58,828
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= 84,040
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401 Al HIZ 201 8] 231,775 216,028 15,747
= 166,778
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Ot ol S M AL 213,675& x936ha 200,000
= 166,778
< 19,500
s 13,722
02 Zeltl 30,000 25,924 4,076
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s 875
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< 25,729
[ia 60,033
101 @14l 74,234 74,232 2
< 25,729
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04 JI2ZtHZ22HEE =+ 74,234 74,232 2
OMESHERAAHE (4UHEEELE)
68,735 x4H »270 74,234
= 25,729
s 48,505
201 2et24d] 11,528 11,528 0
01 At 2teltl 8,400 8,400 0
OMEZSH A0 &SI
840,000 »1CH =10 8,400
02 2324l 3,128 3,128 0
OMESHEZNEXSHSYI
1,251& %2,5004 3,128
HESHULASS 42,090 0 42,090
< 12,627
[ia 29,463
401 Al B2 28I 42,090 0 42,090
< 12,627
e 29,463
01 A& HI 42,090 0 42,090
OAUSTHHESEUH L LR FAIAIE S
1,683,600& *25ha 42,090
< 12,627
[ia 29,463
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e 2,450
405 RHoHE S HI 3,500 3,080 420
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= 1,050
= 2,450
At HB S & AT 31,089 24,554 6,535
201 et | 13,489 13,456 33
01 AP 2t 2] H| 5,600 5,600 0
OKtteldalsnsdseEs 100& =10, 0000H 1,000
O EHalsS2MUMEE22 X2 A
8,000& x4H x50 1,600
Oz =TeleMAEAZ2E 10,000 10004 1,000
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10,000 =1000H 1,000
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02 232 H4| 7,889 7,856 33
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920 x84 34 A 60 1,325
Otteldal s MsS I H & A=
1,360 x104 *3CH*80L 3,264
OZHEIAHLHEEG6PS==2l 1,000,000 ~2CH 2,000
OAUEMESYHHFIANSSSHHR S
5,000& 53| x12& 300
O=SMIMIIed 1,000,000 = 1CH 1,000
206 M = Hl 15,600 5,800 9,800
01 X2 Hl 15,600 5,800 9,800
Ot gals2dsYls 22,000 *100= 2,200
OsYd=E1tel et 3,400
— EHIF= O 45,000 404 1,800
— MY 20,000 404 800
- &2 10,000 x80JH 800
O=sgdisgd e~ 50,000 2004 10,000
301 LBt A= 2,000 2,000 0
09 HAIAHI X & 2 2,000 2,000 0
OMESYEUHEJANFHLNMH 500,000 4 2,000
MESHIHIMAS 49,500 70,150 AN 20,650
& 14,850
= 34,650
401 AlEHIZL 2 0HY| 49,500 70,150 N 20,650
& 14,850
= 34,650
01 Al&H| 40,000 61,226 N21,226
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SHIAMY ASLXHE(E ) 209,187 0 209,187
= 83,675
< 37,653
s 87,859
201 £B-2dH| 56,700 0 56,700
= 22,680
< 10,206
s 23,814
01 At 22l 56,700 0 56,700
OFS=—S k= PNEN; 49,700,000 104 & 49,700
= 19,880
< 8,946
[ia 20,874
OuEXSZAHI(SELE) 8,000& +875H 7,000
= 2,800
< 1,260
s 2,940
202 Odl 6,200 0 6,200
= 2,480
< 1,116
s 2,604
01 = LH 4 Hi 6,200 0 6,200
OL=0LRAZFREER 20,000 «5H 62 6,200
= 2,480
< 1,116
[ia 2,604
206 = Hl 16,087 0 16,087
= 6,435
< 2,895
i 6,757
01 M2 8l 16,087 0 16,087
OJel &l st &l 357,480& =454 16,087
= 6,435
< 2,895
s 6,757
401 Al HI K 201 I 127,000 0 127,000
= 50,800
= 22,860
s 53,340
01 A& Bl 127,000 0 127,000
Ot=2 Rl 2 AlIStHet R X
2,000,000& =3CH 6,000
= 2,400
S 1,080
s 2,520
O4tEetd B2t d 121,000,000 *1JH £ 121,000
= 48,400
< 21,780
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- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
01 AP 22| H| 800,000 0 800,000
ONS & 3Ha I Xt 4,000,000 x200&! 800,000
< 160,000
= 640,000
02 222%4| 52,354 0 52,354
O 2ZAIE RFXAH|
1,397.75% x55%H x2 52| E{ x180L 34,595
& 6,919
= 27,676
ONEZAY SR XHH (ZH=IH2)
1,397 .75& %21 x2 52| E{ 180 13,209
OMNSZAI/AXZHAIAE Ol
130,000& *20CH 2,600
o= 520
= 2,080
ONEZALAXNZHAIAE O|l22(2H It
) 130,000& = 15CH 1,950
THIAY AR (XE) 10,000 0 10,000
= 2,000
iy 8,000
401 Al HI L £ 0HHI 10,000 0 10,000
< 2,000
= 8,000
01 Al& B 10,000 0 10,000
Ol 2ZAIAIE (ZAIENE X
10,000,000 *1JH & 10,000
= 2,000
= 8,000
AFS| A HI A Z0F01 2 A H 15,908 20,300 N4 392
= 15,908
301 dEtE M= 15,908 20,300 N4 ,392
= 15,908
0B AMSERLIEAZ 15,908 20,300 A4 392
Ol 222 QA8 X (NEHEZEE)
7,954,000 x2H 15,908
= 15,908
A= 0l 2 Y RS 520,696 264,123 256,573
201 LBt | 84,036 69,678 14,358
01 AP 22| d| 47,920 49,920 A 2,000
ONEoL=EEE 20,000& 9 *50& *x23| 18,000
Odt=2Z A2 X R 5,000 *x2= %100 1,000
O2&I|ig el = 60,000& 2=+ 10K 1,200
Oatglig2(Mraas)r2e
200,000 x100H 20,000
Odt= &l 3= N EF Y| 10,0008 x*50&H%23] 1,000
OALEHIAZ 2 X2 A 8,000& x5H x150L 6,000
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01 AP 22| H| 5,000 0 5,000
OMXIEEEANRES LY 50,000 1004 5,000
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202 044 4,000 0 4,000
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OMTEHEBE AR S0
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= 14,000
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OFTACHH| XI = E3FAFS (EHHHHI)
5,000 x8,00021 *50% 20,000
& 6,000
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SAIZHALSE =X 3,500 5,000 A 1,500
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= 2,500
307 giztol A 3,500 5,000 A 1,500
& 1,000
= 2,500
02 QI2tAAMAIE E =X 3,500 5,000 A 1,500
OUNESEASEHFAIY 3,500,000 =14l 3,500
= 1,000
= 2,500
Aol 2EotesMEHE XS 700,908 1,130,370 N429,462
= 2,000
=} 6,189
= 692,719
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 2,000 0 2,000
OZeElgHeElH 7Y 500,000& *4 44 13 2,000
02 332494l 3,640 6,756 N3,116
OXZANELEXNHLIHHSFE(HEIISLE)
1,360 x104 *10CH*15L! 2,040
OxXZANE22 S HH %2l 100, 000& *5CH *23] 1,000
OZAIAQENIANEZ 50,000& =12& 600
202 04| 5,880 5,880 0
01 2LHOHI 5,880 5,880 0
OXE=NGERFA 35,0003 *3H x4 x14 3] 5,880
206 M = dl 18,484 19,600 A1,116
01 X bl 18,484 19,600 A1,116
OJz4+LXTHIN22ES 6,050
— M =Hl 10,0003 x 10 23] 200
—HIZ(LEEHS) 10,000& *300 &£ 3,000
— & =H 10,0003 *304Y 300
— a2 Al 10,000& *304Y 300
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— FAH 10,000& x 100 x23] 2,000
— &3 10,000& x5 =6 300
OuctZ2=std=a=sHsE=s+7Y
1,000,000& *3== 3,000
OXIFdUAREFSPY 10,000& 3002 3,000
OXE=sX2ACINAHES 2L (UFINLE 48)
41,7003 *4E x53] 834
401 Al HI YL 2 0HHI 482,310 361,734 120,576
01 A& HI 480,000 360,000 120,000
OGAdFHAAEYIAIY 50,000,000 x 104 2 50,000
O3SAMEEUH==0IA B A 600,000& x50 30,000
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2,000, 000& *75km 150,000
03 A& 20 b 2,310 1,734 576
OXAAMNEEUYI 330,000,000& *0.7% 2,310
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4N YFH I 17,732 ,979 ~9,247
< 5,319
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401 AlEHIZL 2 0HY| 17,732 ,979 N9, 247
o=t 5,319
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01 Al&H| 17,732 ,979 N9,247
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o 5,319
= 12,413
OEC2BBETY 2,000 ,000 0
2 2,000
BHElitESsEs 2,000 ,000 0
= 2,000
202 04d| 2,000 ,000 0
= 2,000
01 2L Y| 2,000 ,000 0
OBEtES S S0 20,0008 22 x50 2,000
= 2,000
ME TR B M 25 670,000 ,000 A 4,050,000
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Jl2dd (A4 s 30,688 33,744 A 3,056
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